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Read the following passage and answer the questions from 1to 5:
Adverse Impacts of Green Revolution

There can be no doubt that the first Green Revolution lifted the country out of a
situation immediately after independence when the prospects of famine and scarcity of
food commodities loomed large. The rapidly expanding population could have made
matters all the more worse. It was the Green Revolution that helped tackle the food
security issue with increased agricultural productivity.

However, the Green Revolution did have some adverse impacts too which are
being felt in the long run. Since the emphasis was mainly on cereals like rice and wheat,
there was a loss of productivity as far as pulses, fruits and vegetables were concerned.
The present rate of fruit and vegetable production will not be able to cope with the future
demand as the population is increasing rapidly.

Besides, production of the same type of cereals such as rice and wheat year after
year gradually decreased soil fertility making it difficult for pulses and other vegetables
to grow. Monoculture (the cultivation of same crop variety for a prolonged period) also
led to breakdown of the plant’s resistance to pests and diseases which is an unwelcome
offshoot of the first Green Revolution.

Another criticism often directed at the first Green Revolution is the
indiscriminate use of fertilizers and pesticides that is today threatening the
agri-fature of the country. Excessive and inappropriate use of fertilizers and pesticides
led to widespread environmental damage polluting waterways, poisoning agricultural
workers and killing beneficial insects and other wildlife,

The first Green Revolution also did not take care of certain areas like rainfed,
hilly, coastal, dry land and arid zones which could be developed properly for production
of exportable items like fruits, honey, mushroom, milk, meat, etc. Critics of the Green
Revolution have also argued that owners of large farms were the main adopters of new
technologies because of their better access to irrigation water, fertilizers, seeds and
credit. Small farmers were either unaffected or harmed because the Green Revolution
resulted in lower product prices, higher input prices and efforts by landlords to increase
rent or force tenants off the land. The Green Revolution also encouraged unnecessary
mechanization, thereby pushing down rural wages and employment.

Faulty irrigation practices also led to salt build-up and eventual abandonment of
some of the best farming lands. Groundwater levels have retreated in areas where more
water is being pumped for irrigation than can be replenished by the rains.
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(3) A, ¥ aAfor g (4) =i v =l
The first Green Revolution did not take care of which of the following areas ?
a. Rainfed areas b. - Coastal areas
c.  Fertile soil areas d. Arid areas
Answer Options :

(1) Onlyaandc : (2) Onlycandd
(3) Onlya,bandd (4) All of the above

2. el gRawid gadl i drer ateat 3mg ?
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(1) o A anfor 8 | (2) % & AT S
(3) waT (4) % A, & AN g

Which of the following criticisms of the first Green Revolution is/are correct ?
a. Polluting waterways

b. Polluting air

¢.  Poisoning agricultural workers

d. Killing beneficial insects and wildlife

Answer Options :
(1) Onlyaandb (2) Onlycandd
(3) Onlyb , (4) Onlya,candd
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Which of the following statements is/are correct about the Green Revolution ?
a. There was emphasis mainly on cereals like rice and wheat.

b.  There was a loss of productivity of pulses, fruits and vegetables.

c.  There was emphasis mainly on pulses, fruits and vegetables cultivation.

d. There was a gradual decrease in soil fertility year after year.

Answer Options :
(1) Onlya bandd (2) Onlyc
(3) Onlyaandc ' (4) All of the above

4.  ERAHEAT FIST GieAATh! HIUT/HIS TG Helel IROY St 378 ?
3. TG AT gt
a. i awed AT ymm
%. 3 A = e SHEET Tifds e
. O Yaedl Wiell A

Tt I

(1) % 3 (2) %I G T H

(3) % A, § IS (4) afid T SN

Which of the following impacts on environment during the Green Revolution is/are
correct ?

a. Faulty irrigation practices
b. Increase of salt in soil
c. Abandonment of some of the best farming lands

d. Groundwater levels have retreated

Answer Options :
(1) Onlya (2) Onlybandc
(3) Only .a, b and d (4) All of the above
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Which of the following adverse impacts of the Green Revolution is/are correct 7
a. Production of same type of cereals year after year decreased soil fertility.
b.  Loss of soil fertility made it difficult for pulses and vegetables to grow.

c.  Monoculture led to breakdown of plant’s resistance to pests and diseases.

Answer Options :
(1) Onlya

(2) Onlyaandb
(3) Onlyaandec

{(4) Al of the above
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Read the following passage and ansvt'rer the questions from 6 to 10 :

‘Communication Technology’ has been the single most important economic force
shaping all societies over the past half-century with geography; national borders and
time zones becoming irrelevant with ‘the new communication revolution’. In today’s
changing world, global electronic commerce is growing so fast and creating new
opportunities for trade that no country can afford to miss it. Such explosive innovations
and developments in science and technology have deeply influenced the direction and
trends in international trade.

The role of international trade in the process of economic development is widely
recognized. International trade brings a variety of static and dynamic gains and thus
increases the capacity for development. Larger the volume of trade, greater is the
potential for development. Economic history finds success stories of various countries,
which were relatively underdeveloped at one time but were converted to the category of
developed countries through foreign trade. \

Trade is as old as human society itself, as no man, and more so, no society, can
ever be self-sufficient. In ancient times trade was in the form of barter, but afterwards,
not only did trade change from barter to money, but from a stroke of a computer
keyboard, people could enter into a transaction not only in goods and services but also in
stocks and bonds, financial lending and national and international currency dealing
from one corner to another corner of the world.

Export promotion being one of the main facets of fast and steady growth,
considerable attention has been given to export incentives since the nineteen sixties. It
has been realized that “export growth is not a luxury” for India. It is a prerequisite for
adequate foreign exchange earnings, to maintain the tempo of economic development
without sacrificing the country’s self-reliance. However, exports can play an effective
role “as an engine of economic growth” in Indian conditions.

Export trade is a vital variable in the Indian economic situation. It plays a
paramount role in Indian economic development. It is indeed exports that activate the
use of unexploited natural and human resources, break the limitations of the domestic
market, strengthen and organize the stagnant economy and minimize the dependence
on foreign aid, which, since long is believed to accelerate the pace of economic
transformation.

Exports are a key factor in the developinent process of any economy. The logical
grounds can be considered in terms of both, the direct and indirect gains of exports in a
developing economy like India.
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6. Hiiferss, TS dimT 9 wemAie fuds 3t ed s
(1) HaRE F&w =
(2) =¥t wag il
(3) TRt HhwOT T
(4) ffea ew
Geographical, national borders and time zones are becoming irrelevant because of
(1) Communication technology
(2) The new communication revolution
(3) Information communication technology
(4) Digital teols
7.  fowmrh gua Gcfiath S sewEt AT oTF ?
(1) = fem (2) AT SATIR
(3) AR ITEREAM , (4) -ttt wwd T
The potential of development depends on the
(i) Direction_of trade (2) Import of trade
(3) Volume of trade (4) None of the above
8, SR & A Tpld b T 9" AR, FRA

(1) wofie T (2)
(3) RSN AR A 4)
Trade is as old as human society because

(1) No one is self-sufficient (2)

(3) Wants are unlimited (4)

fammart ga

Greed of development

Resources are limited
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(1) | Faa

(2) W wmeR Ao

3) fie an woeh

(4) TS A T

Due to computer technology, people have also entered into the trade of

(1) Goods and services |

(2) Human resources

(3) Natural resources

(4) National and international currencies

10. wR=oew gErm TE fae.
(1 T e
(2) HaR T
(3) e

@) b s s s e

" Choose the appropriate title for the passage.
(1) Export Promotion
(2) Communication Technology

' (8) Communication Revolution

(4) Foreign Trade and Economic Development
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Read the following passage and answer the questions from 11 to 15:

The wonders of light can be enjoyed in a variety of ways. Mirrors and lenses
are part of them, Plane mirrors are well known to us. Concave and convex mirrors
are used to converge and diverge the light as per need. The focal length of the
spherical mirror is half of its radius of curvature. The ratio of the product and
sum of object distance and image distance is the focal length of the mirror.
Convex and concave lenses are also used for the same purpose as above. The ratio
of the product and difference of object distance and image distance is the focal
length of the lens. '

According to new Cartesian sign convention, the measurements towards the-
left from the pole or centre and below the axis are taken as negative, while those
towards the right and above the axis are taken as positive. The ability of lenses to
converge or diverge is their power in the units of dioptre. One dioptre is the

reciprocal of focal length in metres.

In general, mirrors and lenses are used to obtain a magnified image relative
to the object. Magnification is the ratio of image size to object size or image
distance to object distance. Mirrors and lenses are used in torches and headlights,
flood lights, projector lamps, solar devices and furnaces, cameras, spectrometers,
simple microscopes, compound microscopes, telescopes, spectacles, etc. The
human eye is a natural optical instrument. Light enters the thin cornea, iris,
pupil of variable diameter to control and regulate light with the tendency of
adaptation. Behind the pupil there is a biconvex crystalline lens having the power
of accommodation. Finally a real and inverted image is formed on the retina. The

distance of distinct vision is 25 ¢cm from the normal eye.

But various refractive defects like myopia, hypermetropia and presbyopia
arise due to non-relaxation or weak action of ciliary muscles, high or low
converging power of lens, increase or decrease in distance between lens and
retina, lengthening or shortening of the eyeball. These defects can be corrected by
using suitable concave or convex lenses. Both the defects may appear

simultaneously, in such cases, bifocal lens should be used.
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11.  TH Fegdr It 3 9ft o 24 ot awmar B o Siadw ARSI 20 BT SioieR
Jaeli MR, geee o fraavamard) sy veer fdt ofmtat srET ? @ wfemEn R

feeht

(1)
(2)
3
CY)

?

YSEAE IR yfesr=T STHER
— 30 &uft + 4-5 ot
— 309t - 45 &t
+ 4-5 arft - 30 ot
— 45 3ft + 30 aeft

An object 3 cm in size is placed 20 cm in front of a concave mirror of radius of

curvature 24 cm. At what distance from the mirror should a screen be placed in
order to obtain a sharp image ? Also, what is the size of the image ?

(1)
(2)
(3)
4)

Distance of screen Size of image
—-30 cm + 45 cm
—30cm —4-5ecm
+4'5cm ~30cm
—-4-5cm + 30 cm

12. TR 3R AN e 50 At srmon=n safren ss=rh i s et s 7

(D
(2}
3
4)

0-02 EET
0-2 SHTe
2 TR

20 A

What focal power should the reading specfacles have for a person for whom the least

distance of distinct vision is 50 em ?

(1)
(2)
3)
(4)

0-02 Dioptre
0-2 Dioptre
2 Dioptre

20 Dioptre
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i) gt

(iii) WY gEIRE

(iv) Siew o

(v) YcIScIEes

(vi) @ gegEn

e} fipr
@ GG, G, (i), (vi)

@) Gid), Gv), @) @), (vi), (v)

@ @), aG), wi) i), (v), @)

@ Gi), Gil), W) @), Gv), &)

In the list of the following instruments, mirrors and lenses are used. Classify them
accordingly.

() Headlights

(ii) Telescopes

(iii) Compound microscopes

(iv) Projection lamps

(v) Floodlights

(vi) Simple microscopes
Mirrors Lenses

O @60, ), G, )

(2) (Gii), Gw), Gi) (1), (vi), (v)

(3 (1), (), (vi) (iii), (iv), (v)

@ (b, GiD), o) @), Gv), (V)
FORYT HTHTHTS! ST / SPACE FOR ROUGH WORK P.T.O.

1 B L R S0 M e T i 8 g A LI B o e 0 s Ch el s » et o s



G11 16 A

14. maﬁwm@ma&q@mam@m@maﬂm AT WS IS g
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(D =, fgmfa
(2) s, fgmia
(3) 3idd®, afgdwm
(4) sfgds®, @a®

A person whose left eye is myopic and right eye is hypermetropic, his spectacles

should have right and left lenses to be and respectively.

(1) convex, bifocal
(2) concave, bifocal
(3) concave, convex

(4) convex, concave

15. 1l x 1 fonfi =n Stash T8 smee 1€ e, s e S9e sEeear 9 it i

siar=An afgdz AT 9 ¥t siqae sftaear, @ w1E et < . AT
e,

(1) 10 fi x 10 fndt (2) 10 firfi2

(3) 10 @2 (4) 1 firfi2

A card sheet divided into squares,‘ each of size 1 mm x 1 mm is being viewed at a
distance of 9 cm through a convex lens of focal length 9 cm held close to the eye. The
squares on the card sheet will be observed to be of size

(1) 10 mm x 10 mm (2) 10 mm?

(3) 10 cm? 4 1mm?2
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Read the following passage and answer the questions from 16 to 20 :

Flowers serve as an excellent offering to God. They are an invaluable aid for

personal make-up and a source of inspiration to poets.

Flowers are the structure of sexual reproduction in plants. After seed
germination, the plant grows continuously to its full maturity. At a certain point
in life, the plant switches over to the reproductive phase and starts bearing
flowers. The stalk of the flower is referred to as pedicel. In general, four types of
organs are involved in constituting a flower. The outermost green whorl having
sepals is calyx, and inner to the calyx is a whorl of brightly coloured petals, i.e.
corolla. Next to it, the whorl is of stamens which is collectively called androecium;
representing the male sex organs. The centre of the flower is occupied by carpels,
i.e. gynoecium which is represented by the female reproductive whorl. Depending
on the presence of stamens and carpels, the flower may be a male, female or
hermaphrodite flower. In flowers, pollen grains are produced by stamens in the
anther lobe. Then mature pollen grains are transferred to the stigma leading to
successful pollination. The stigma provides required natural conditions for in-vive

germination of pollen grains.

Various agencies are involved in the transfer of pollen grains to the stigma;
they may be biotic or abiotic. The biotic agencies are bees, insects, birds, bats,

ants, animals, etc. and abiotic agencies are wind and water.

The process of pollination is very basic and important for fruit and seed
setting. Likewise, it is important for the conservation of biodiversity. The
pollinators and plants are co-evolved during the course of evolution. Some species
need only biotic agents for pollination without which plants will become extinct.
In the absence of successful pollination, the plant reproduction process will stop
completely. That is why it is necessary to conserve the plants and their
pollinators too. If pollination stops due to any reason, the process of seed setting

will cease.

FoedT SIS AT / SPACE FOR ROUGH WORK
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A% gl wewrlt dvrn e fally semamed wrefiatdl s gEifdm Wi
Jum 7E7 ?

L feE 2) T (3 @ @) gFm

As per the involvement of various parts of a flower in the process of sexual
reproduction, which one of the following cannot be neglected ?

(1) Sepals (2) Petals (3) Pedicel {4) * Stamens

N 17'

RO FETaT UMt Sadd WATHY HFRT T w1 et ?
(1) wefiga (2) wuft (3) dioemm 4) TFR

After the transfer of pollen grains, which ﬂoral organ acts as a site for pollen tube
germination ?

(1) Style (2) Stigma (3) Ovary © (4) Anther

18.

Jog1 ToATElt U R gHT BEI e 3d, ogt Rt sk R 2

(1) Toffes (2) weHd

(3) YT (4) o ud

When honey-bees visit from one flower to another, they carry out the process of
(1) Pollination (2) Fertilization

(3) . Reproduction (4) All of the above

19.

SAfitep gecared dogre IRl Wi 3 TR 3dw, Ssat

(1) TRV S0 Fafia gedid

(2) wEHAH diRNE dERa

(3) v daun géa

(@) aw gz wriiewma el sRe

The process of sexual reproduction is said to be successful only when
(1) Pollen grains land perfectly on the stigma

(2) The pollen tube reaches the ovary

(3) There is formation of seeds in fruit

(4) A biotic agency is involved in pollination

20.

IGhTd! GOAH FEUdET o TR0 SHOT=a1 Heshiat :-rr-ﬂ?ﬁ

(1) TFE At

(2) UEHEHEET A

(3) et Feadiet 3 AR REfiRTer Heom= gewhTHE! et

(4) TIH QAT FHIOMT USHTdl F AR FIEqaiel At

During the course of evolution, plants and their pollinators evolved
(1) Separately

(2) Simultaneously

(3) Plants first and then pollinators

(4) Pollinators first and then plants

oY FHTETST AR / SPACE FOR ROUGH WORK : P.T.O.
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Qe IR TTER Snanfid 21 @ 25 Tyl I e :

AT
JEETROY qraer=a gl pH 56 A O crsaria H® s dan e
YEETEAT 9T J HEEEAFERS (SAERIdR) I fufshiyes.

H,0 (1) + €O, (g) = HyC03 (aq)
HoCO4 (aq) = H® (aq) + HCO3® (aq)

A TS oAl pH 56 98T 1 S et SR 9eid FUdTd. AR
TS § AMETSE WG] RATTER STETeRe et geun= He 9 AR SRS |
IqErd AR, JaFEHTSAT Flear M q@ Saergd (erergd) T wgIge R R
A fedia = dag Fev=a deeeHiauEe 9 AW SHeETE ifeatsReme
A g SifalRagT oo Y@ Wew ImTEl dOR HAM. ST SIdETd,
FAETE], e AT TGRS AR HRW df e Aaees fwasaar e g9
THA. TN @ vEE AR Fe S, qeaEee giEede w1,
WS FAAIET AgA Tiwed eqren Fe, Pb 3 Cu ¥ o s@ward 9 fywarsan qroar
IAE. R AT @O g, aﬁama@aﬁma@w@ﬁm Tt
AHEATR HEATSeS TR Hieren 312,

Read the following passage and answer the questions from 21 to 25 :

Acid Rain
Normally rainwater has a pH of 5-6 due to the presence of H® ions formed by
the reaction of rainwater with CO, present in the atmosphere.

H20 )+ COZ (g) = H2003 (aq)
H,CO3 (aq) = H® (aq) + HCO4® (aq)

When the pH of the rain drops below 56 it is called acid rain. Acid rain is a
by-product of a variety of human activities that emit the oxides of S and N in the
atmosphere. Burning of fossil fuels such as coal and oil in power stations and
furnaces or petrol and diesel in motor engines produce SO; and NO, after
oxidation and their reaction with HoO are major contributors to acid rain. Acid
rain is harmful for agriculture, trees and plants as it dissolves and washes away
nutrients needed for their growth. It causes respiratory ailments in human beings
and animals. It affects the aquatic ecosystem. It corrodes water pipes resulting in
the leaching of heavy metals such as Fe, Pb and Cu into the drinking water. Acid
water damages buildings and other structures made up of stone or metal. The
Taj Mahal in India has been affected by acid rain.

goeg] FITATS! ST / SPACE FOR ROUGH WORK
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21. TSI 3T Yo TRV SogT, pH ¥ §eu Ed.

1 70 (2) 83 3 79 (4) 569w

Rain is called acid rain, when its pH value is '

1) 70 (2) 83 @ 79 (4) Less than 56
22, T IETEATRE T sffFm AeA - R w4,

(1) HCOz(ag) - (2) HyCOg3(ag)

(3) HyCO5.(aq) (4) HgCOgz (ag)

When H,0 () reacts with CO, (g) it gives.

(1) HCOj(aq) (2) HyCOg3 (aq)

(3) H,yCO, (ag) (4) HzCOg (aq)
23.  famvw Sy iy Yfermen seagE ¥ 717 Rresam.

(1) SO anfr NO ' (2) S0, amfit NO,

(3) S N, (4) NHg a1 SO,

Burning of fossil fuels and petroleum gives

(1) SO and NO (2) SO; and NO,

(3) Sand N, (4) NHgand SO,
24, ATAYSA, ITGAATS EHIETH AR FRO0

(1) o =gy qefae (2) I § [ TRV AT

(3) ¥ ¥FIged e Hreard (4) 3mged avfiE Tgdra

Acid rain is harmful to plants because .

(1) - It gives nutrients (2) Nutrients are added as supplement

(3) It washes away the nutrients (4) Nutrients will remain as they are
26. WRAWIA TOHEN WA HIA TRUM Fre

1 A (2) A T

(3) Wad T 4) =

The Taj Mahal in India has been affected by

(1) Heavyrain (2) Acid rain

(3) Constant rain (4) Smaller rain

Lol FTHETS! AN / SPACE FOR ROUGH WORK
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JEE SARTATIA TTa AT 26 # 30 Tgi=it I T ¢

A&y foarl 3 W WigAn svdavft oren wimoash faeet Feft. @ @ Aiggs 3 B
@ qIF R 1982 WD wW Hid g, 9 byat 1987 wed dgrencem frwm
seege A% AdiH FHUST geaTen d [ESl SN Wadie-iegHiie afd agm
fonmma oft e Seret Avda o e BrRA IeEa Tegdl. dt JEen 32 auieAr gar, 9
@ g Fr=favamETd awglit ded g, J gEETdl H1E FUd R gaT ared o
e feara. cay, wen gre anfiral g9 omdd Sviee wen datyss amde enfr ot quen
formm e & yea Pl e WA,

& TN AT e W ged died anft ft TAW e R A FEvE e
Feft, wRveH Arsht W et anft faart T afea SR TE IS wear. St
AYUTERT TP I} SR ATRRUATSAT AT WGd HOUAT IFSS W i awte
T WEASeTd TR o WIRAT e fgieiedn gehedid! Faha et MM == T
T F W TR . AW WY WS Yae SR geed, =Wy ft aremr
Irad GUT & dactedl Hiaar fFagew onfin = " wuw gfEdne) quay e

T 3 ARA H F HUT haB AFA fFdh qareh A0 gErER A w FEAE
ATITEIR WA AT T RS oY O S WRawe weentuq e foas
THEAT FRTE AT AT FHEN FeHEl, @S FWeled aegiern fUsErdEh FEnft ang.
@ U A ST WEHMiE M YHETE! FEN R, Nt wEA gRW Wiy
wedidie T fagaet snf difie sivearsr M9 Suen yrarE s e werde
Th SIGHYT IR, '

T et MW Tas wa dvaue fafime it oR aevemd i wen o,
e ft 3 w16 frean 3R & wren Aedigrs, @ oo e siferEd gl s
e whnien g onfh wEs=Ten AeATIA W AEAER TS FAST 9uia e
anfon a wiewram werftseR @ Areh Fawar = w9 dow W FAS e AR RigEH
i Iwdl.  wd Thew I Seore 3 TR, o7 T A AN e A=
BleT HTHIAT HISHTT el 7= 6 3R,
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Read the following passage and answer the questions from 26 to 30:

Arun Tiwari, reduested me to share my reminiscences with him, so that he
could record them. He was someone who had been working in my laboratory since
1982, but I had never really known him well until the February of 1987 when I
visited him at the Intensive Coronary Care Unit of the Nizam’s Institute of
Medical Sciences in Hyderabad. He was a mere 32-year-old, but was fighting
valiantly for his life. I asked him if there was anything he wanted me to do for
him. “Give me your blessings, Sir,” he said, “so that I may have a longer life and

can complete at least one of your projects.”

The young man’s dedication moved me and I prayed for his recovery all night.
The Lord answered my prayers and Tiwari was able to get back to work in a
month. He did an excellent job in helping to realize the Akash missile airframe
from scratch within the short space of three years. He then took up the task of
chronicling my story. Over the last year, he patiently transcribed the bits and
pieces of my story and converted them into a fluent narrative. He also went
through my personal library meticulously and selected from among the pieces of
poetry those I had marked while reading, and included them in the text.

This story is an account, I hope, not just of my persona.l. triumphs and
tribulations but of the successes and setbacks of the science establishment in
modern India, struggling to establish itseif in the technological forefront. It is the
story of national aspiration and of co-operative endeavour. And, as I see it, the
saga of India’s search for scientific self-sufficiency and technological competence

is a parable for our times.

L

Each individual creature on this beautiful planet is created by God to fulfil a
particular role. Whatever I have achieved in life is through His help, and an
expression of His will. He showered His grace on me through some outstanding
teachers and colleagues, and when I pay my tributes to these fine persons, I am
merely praising His glory. All these rockets and missiles are His work through a
small person called APJ Abdul Kalam.

FoeT IS JFT / SPACE FOR ROUGH WORK P.T.O.
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26, T =N AEH TR,

(1) 3 foarh (2) sfiesEar A9 T

3) T oegy AW (4) FpmEEAH U S

The author of the above passage is

(1) Ashok Tiwari (2) Can’t be recognised

(3) APJ Abdul Kalam (4} A doctor in Hyderabad
27. IA=EE @ g # A e e aif o fafeeh /fafen /fafea /fafevam

U hefl, .

(1) wowEld qE (2) eni AfE

(3) et (4) wamE Ifm

The passage suggests that Ashok Tiwari helped to write a/an

(1) Article on Kalam (2) Biography of Kalam

(3) Novel " (4) Autobiography of Kalam
28. FAWE__ B (Gcha wiameg e gitget vl fasn)

(1) eEEE (2) onfem

(3) s (4) s, TR oMYl W At M

Kalam was a/an (Choose a more complete description from the options)

(1) Agnostic (2) Theist

(3) Atheist (4) 'Theist, a scientist and a voracious reader
29,  ITHM HYVTTEATET TITHH FIAEHE IR FOITT ATHI.

(1) 32aut=m (2) 3aut=m

(3 2astam (4) b5agtan

The Akash missile airframe was created in a period of

(1) 32 years (2) 3years

(3) 2 years (4) 5 years
30, v famEr g w4

(1) weamf gatda e (2) ararex T

(3) TF TR ha (4) ATETA

Arun Tiwari suffered from a/an

(1) Heart related disease (2) Incurable disease

(3) Type of cancer (4) Accident

o] HIITATS! ST / SPACE FOR ROUGH WORK
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A SAETIR TER AT 31/ 35 Wy I e

rfofer ST TR U e HIHSTAT Faarerrear feamediat frmor s
AT TeH FREHIS Ufehoatel STSTEHE TEE §1 HESl AT, JahaHl 9 aras
anfor TR g FE R It A1 Hiage fGan I8, ¥a A frwaar Swt Saeht wma s
e TR T S 9. a1 G w69 A e, SRt SR Sl s
APHT 3 WISA THAME] W TS B, W @ 9 & QW S "

TR T ogl.

TER TR 6,40,000 HRE Aot TEET S e TR @ AewiE
THeT Bt S, WiedT TR STATTAINE TS Yo 39 W WU iy gt
HITGHT INTET g1, NadT Flerd a1 fvame Toe wod 8. ST 1933 AEl T ERA ¢4t
TN WENES, (ﬁ?&ﬁq)émmﬁm@ﬁ,ﬁﬁwmmm
‘ﬂwﬁ,ﬁwmé AENET T GURAT, @ed il 39eTed Jiell. S qOqa a1 @i
st geelt B, 9 | AT AT, Al T TSgT AR AT I AR FEA A
mﬂwﬁ,%wﬁmmﬁ.mwﬁ{ﬁ!ﬁmmmmm

e @iy 397 Y i FrAHA WIS QT HIEET UE el e, B g
AR GEdS FAHHT T AEEF IR &7 FA Q. AGARTE =1e] Taaen 4
: . e o e, . S ..
w am fodt wmara. Fesaren et & s weR faaRa waw et @ gR oA gean
T T AT A, A A R, A, T AR TS TG

LI HERCC
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Read the following passage and answer the questions from 31 to 35 ;

To help the farmers, the Agricultural Adjustment Act provided for
curtailment of farm output to get rid of the surplus that was depressing prices.
Farmers were paid not to raise grain and livestock, fields were left idle and excess
produce was destroyed. Considerable criticism was levied against this policy.
Millions of people throughout the United States and the world needed food that
they could not pay for, and as yet no way of giving it to them was politically

feasible.

The government embarked on an ambitious project in the Tennessee River
Valley, an area embracing 6,40,000 square miles in the heart of the South. During
World War I it had built a dam‘and ammunition factories at Muscle Shoals,
Alabama, which it had tried unsuccessfully to sell when peace came. Now, in
1933, it created the Tennessee Valley Authority, an independent government
agency, to put these facilities to work producing fertilizer and electric power,

| Moreover, the TVA went on to build many additional dams and power plants to
improve the region. Cheap electricity was made available; floods that had ravaged
the Valley and hindered its development were halted; farm experts were sent to
show the people how to conserve their land and achieve greater production.
Within a few years, what had once been a backward area was a land of humming

industries and prosperous farms.

Looking to the future, the New Deal passed the Social Security Act to protect
the people against many of the common forms of distress. The program, which has
continued to the present time, includes unemployment insurance for workers, old
age pensions, aid to dependent children and benefits to the needy. Federal funds,
distributed and admimstered by the States contribute to much of this security
system, which is supported in part by workers, employers and State and local

governments,

T BTG AT / SPACE FOR ROUGH WORK

] e R



A 27 : G11

31. AR G FHRETE 3G FE gl ?
(1) IR A G99 It
(2) ot gEer Frafia o
(3) wyg o
(4) TIFE FEEE TSI 1§ F
What was the aim of the Social Security Act ?
(1) To improve relations between workers and employers
(2) To provide enough water
(83) To bring about prosperity

(4) To protect people against common forms of distress

32, frudt SioewEmT S M SEEer 7Hd T ?
(1) e 9 2) WS sffe IR
3) ArEES o Prohd e W TR (4) T g G e
What was assumed to be responsible fof the decline of prices ?
(1) Idle fields | (2) Surplus farm output
(3) People could not pay for food (4) The New Deal

33. ffiereata oiesede ae T T I Hell Teft ?
(1) 0 wEgr 9 I fRba 5@ 1R, 9o S e e g
(2) 91 HEGN HEE qTwEdr A A &
(3) =1 FEUH R faaka T, o A @ 3R e e
(4) =R @
Why was the Agricultural Adjustment Act criticised ?
(1) The Act curtailed farm outpilt but people needed food
(2) The Act could not stop the Great Depression
(3) The Act gave away food but people did not pay for it
(4) None of the above

o1 HHETHIS! AT / SPACE FOR ROUGH WORK P.T.O.
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34. WAIH H U sy T ?
(1) ToTaaT 3 0 UGS dveda o,
(2) i vfyem TERgE ST e HREHT INIET.
3) aﬁﬁwwﬁwam?ﬁwm?ﬁﬂmﬁmtﬁmmm
(4) HHIT &N FET FTE I G FEH FL).
Which of the following is an incorrect statement ?
(1) It was not politically viable to give food to the needy people.
(2) TVA built the ammunition factory in Alabama during World War 1.
(3) Public education about land conservation resulted in prosperity.

(4) Social Security Act continues to protect people.

35. ¥ G wEniEs (ded)
(1) & =ad Wi geur gid

(2) T 1933 7 smfesa wdA WO "rae!
(3) T&x st fomm qraen
(4) feen Fm T WIEE HErEE HEE
The Tennes_see Valley Author_ity (TVA)
(1) Was an independent government agency
"(2) Built dams all over the United States after 1933
(3) Provided employment i;lsurance

(4) Is supported by workers and employei-s

THoET STHME! ST /| SPACE FOR ROUGH WORK
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Qe TAETER WTER FUTE 36 & 40 Ty Iw o -
A HomS ArTeas R

émmﬁsﬂamﬁﬁqunﬁmaﬁm,w,mﬁmﬁﬁm&wmmw
TEUITATT, Weish AIHETe UF €k 2H 31, 39 T, §H EI8, 3 S 38 Iagd 7Ea.

farren TR 99 W gew foew FE w|ar awme FffEume &9er @ 39, ST
ATFR, A, TH, SIB, FarEr (7 § JFFHR 5. UHEl qqEy Bl

AT TN ~— I1 FLHHEL A 3% e fafag e &= aF Aeada. Ine e
W, Tt LT ATESard.

It — 91 TeHHER gEun I AaT A8, A IHER AvE i, Team e 3 w6l
e @ I Tisd qd. AW WYTONY FURE § IW FEREA e ofts IR R
FEFTT ATHR — A o1 ST AHR AAT Aql. EHER AqE S s g9 9
TR AT ATeBaTd. HEqH 9 TR SIEATE] TSR wiieh HTheht T ARRTH Hgesard.

ATHTAT ITHR — AHr=1 IR AFme fafaua fgg 1. 3 aw o a9 gofrem

. ATl WER — WA AENA, dau fafaw Furh wmifew o fegm 1. Swmme
Hige 9 Are1 AR fagm Fa1. Ff  Fiferm Awen JgET AR AMe 9 W Rgd dat
TP — uHdt Jueh fafie sieE @ S A9, Imw B8 SR, R 918, T3 s om

fogg 3. +13 @ 3 fkkdia A 3wy aR. R 9B ¥ wifemn, I9 3 JUEh @wR
fegm Fam. anfr f3 €12 v 3 Im onmiftA s faem e,

FH — A TATS HEH TED M. IWEA HATE AMHN, TS HH, FB Hd, T by If
fafua g 3. amead sirfam 9= de F8 T F@dd ® e Jvmsar dee
F13 T TS T ANAES I A 9 6 BT, |
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Read the following passage and answer the questions from 36 to 40 :

World Distribution of Human Race

All members of a racial group, though each one of us has one head, two arms, two legs, two
eyes, two ears and so on, each one presents a different appearance,

A scientific classification of races should be based on measurable physical features that are
inherited from ancestors. The features considered important for classification of races
include — colour of skin, stature, shape of the head, face, nose, eyes, fype of hair, etc.

Skin Colour — Skin colour makes the most apparent difference between people belonging
to different races. On the basis of skin colour, the people of the world are classified as
White, Black and Yellow. White-skinned people are found in North America, black in Africa
and yellow in China, Japan and Mongolia.

Stature — Stature being an easily measurable character can be used as one of the bases for
classification of human population. Human population on the basis of stature is divided into
the group of short, medium and tall people. Generally people in Europe and North America
are tallest and Mongoloid people are the shortest.

Shape of the Head — Like stature, the shape of the head is a measurable parameter.
Long headed people are found in Europe and North America, while medium to small
headed people are found in Africa and Asia.

Shape of the Nose — Width and height of nose is also an important criterion for
identification of various races. People with long and narrow noses are found in European
countries while the Africans are classified as people with broad noses. The Kajji of the
Niger Delta in West Africa are the people with the broadest noses among the Negroes while
the Swedes have the narrowest nostrils.

Shape of the Face — The facial appearance of a person is also considered an indicator of
his race. The face may be long or broad. It is generally observed that the faces dof the
Mongoloid, Chinese and Polish people are broader while Scandinavians or the Nordic have
relatively narrower faces.

Eyes — Colour and form of eyes is an indicator of certain racial groups. People are
classified on the  basis of the colour of the eyes as dark-eyed,
gray-eyed, or blue-eyed people. Dark-eyed people are found in Africa, Gray-eyed in
Mongolia, China and Japan and Blue-eyed in North America and Europe.

Hair Form and Colour — Form and colour of hair vary from race to race. On the basis of
the form the hair can be classified as straight long hair or short woely hair and wavy hair.
The Caucasoid people have wavy hair, the Negroid have wooly hair and Mongoloid have
straight hair.

FHTTAT HIFATSE JI / SPACE FOR ROUGH WORK

AP e e . BT TR VP RIS TRt E R TIRR T T A PR S

CE t e e SLICRE S ki ¢ TR SRR P e QN ot g e e e R



A Y G11
36. TR ST T O FE R 2

(1) fEsm (2) U

(3) = . 4) waefia

Which of the following is the skin colour of the Mongolian people ?
(1) Yellowish (2) White

(3) Black ~ (4) Wheatish

37. fafew sen=h Iww wcfierdehl S Sfrgeren smem w3 2
¥, A g I
q, QEWHTSWSR
F. FEEIW
g e
R I
(1) A AN g (@ wwmAafra
3) WA, AT (4) 70 o

To identify the different races, which féatures among the following are
considered ?

a. Width and height of nose

b. Shape of face

¢.  Colour of hair

d. Colour of skin

Answer Options :
(1) Onlyaandd (2) Onlyaandb
(3) Onlya,bandc {4) All of the above

e HHTEIS! AT / SPACE FOR ROUGH WORK P.T.O.
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38. WG gvT=AT S ARTIAR TEAI0 TIEY HTT IS ?
¥, = ¥, SR AR
F  w@EE 3. AT
it I ; _
(1) wd g % (2) wFd H M T
(3) wFd A, ;I (4) FEIE, F A 3
Which features of the human race are easily measurable ?
a. Height b.  Shape of the head -
¢.  Skin colour d. Hair colour

Answer Options :
(1) Onlybande (2) Onlyaandb
(3) Onlya,bandd ' (4) Onlyb,candd

39, 3 TR e A e Tate
(1) el ==, s =6, a9 2% 9 =2 38
(2) gl =9, 7B 92 9 wWe wEe
(3) W= i, Ay I T I8 FH
(4) ¥ TN, FA = T FTB SBAE
Which option indicates the features of the North American people ?
(1) White-skinned, tallest, long headed and blue-eyed
(2) White-skinned, blue-eyed and straight-haired
(3) Long headed, tallest and wooly hair
(4) Broadest nose, shortest and dark-eyed

40. T AlhT=AT JEATE] IHR W3 @S ?

(1) wifera @ Fefem (2) it 9 SO

(3) < 3 TfRrs (4) HIHIFF T TG

Which people have broader faces ?

(1} Mongoloid and Caucasoid (2) Mongoloid and Japanese
(3) Chinese and Mongoloid (4) Caucasoid and Japanese

Tow] HTATHIS! SR / SPACE FOR ROUGH WORK
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TR IogER I W1 FE) W wiem wafig . Rremrgdter frome a1,
a1 e vl a7 faem 9 gl faem 39 IR @ wee oy’ o v felils
Higa AT, T A Friad, 9 9 o Snpmans 39w amed Jed Ry
AR AHUER FRO A, TS G e et S AT oM G T8 30
ﬁzmmm.maﬁﬁaﬁa@m:@?ﬁWHﬁg@@@|mmaﬁ’
i 39 Ee. == gl Afer, fragn Jegs 7 AT Tidid 37 & T SE
U foa 0 SR, W gEreE g feds [ A\iE e Sivie {a 9 wed
T, AF FEEHHET T OFE U S, § FREeTel Saara s 99 g% aed
T, faarr @ o 3 aEifes oM R A Fw, b feenfyad afoe wed,
S T veed anffEs AW @ wudr e fden dfew gREe S and. JerE
ffifh, e onftr yar & +@ aroEE 9] e STade, W R st amiE
Tl AT AR A, WA A A ANe AReAseY sig digvarsh, fha
PreTeETeAeT TRE v g T T, R g Son 5@ wmEren st R
e, 7 ToF TR MY 3 Riged aeHi ghe I9gE SETd R o8 S
TRUUIR AE. RO Tt Iuoeh g Aiweh W dew Uehet @mitte Sfaet s et
wom wE #dia T @Eei Pl s soree T T, sandt fTgeren
IRNHETS R @ SRR Wi [ TIHe araial A6d A q HE FS A
freqarlt fopen fommaerd]l SoaTan awa sEEl. TEUH wEegET Rigrarear ugded den
m@mmmmm

it W T AT e 9T qRUE T EE B0 TR, ﬁuﬁh‘mﬁmq@m
WY . AE WeH TYE 9 EEE F {9 W g T 8. el migen ang
AHET=AT G 7 8 GeNESt 8IS F0Ten U MRS o wafIss | g W
ﬁwm.wﬁﬁmmwﬁ,m,aﬁ,m,@amwma
werEayrEr R FEm. ' g, ¥ 99y, Ft wonges w wf el swaar.
THA 3 ANERS § JETN S S e s, Rrar i, @, v e
TaeieEEe FE Fod FeETe | et Far sivufies gadiat &1 /A v
iy & e s,
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41,  TAESE) GEGETE d qEEHE i F Y A@ 6 ?

A, IR 9 TSR AT gd 97 A .

a9 HAEHH REEEdien e 9 sy fawm weams

F. T IR 9 QIHIS IRF TaeATeA] S

3. oAl g FAEERE W €IS

(1) 1 o (2) w3 g 3) wa 4) wE R
42, TSR UTETE! fagiaren SuEeHEE! Sivdt uitferdt savas s ?

A FHeE aR e gftum _

9. A9MF T ATEIies ST SHd A

F.  Hlord qgfadar

3 S e

(1) o= (2) T H (3) i 4y FaaAfs
43, fogmR mE 3few w2

A, WA HST 9Yg I g@aE S,

9.  Ed @ AHGENTS JreATdE WER gavTe faer w0,

F. TIWE SR R GEOed F

3. g g Wy 9o _

(1) s (2) = amfor s (3) Femfr= 4) wI A
44,  FAEFHA B ANhF TH 3919 AT ?

¥, FHAAR g mR & et amfie wareer s

¥, FEEEAT §19 9T S\ ST AR,

F.  FAEFLET GHTRER HeM ivTar TR

g AT IUYFd oteidt TR FW 9 |l I q5d hivid 1R,

(1) wad & 2) W ® (3) =omfurs 4) w3
45, e ufean onfi v IR IYFAIAT AW FIG T TG JEEF AR ?

.
.
.
.
(1)

FHed 9 Qg Tl FHEHAd |

aaa

o e

AT wHETAT Sifem feare

¥ U1 8 (2) 9 Mg (3) warfirg (4) @ s
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Read the following passage and answer the questions from 46 to 50 :

In the Soumya case the Supreme Court acquitted the accused for murder but
convicted him to life imprisonment for rape, which Justice Katju criticised in his
writing. The subsequent incidents were wholly unwarranted. The court invited
the former judge to defend his statements in person, then chose to take umbrage
at his writing, issued a contempt notice against him, and then asked security staff
to escort him outside the premises. Why did the court have to go through this
theatrical public confrontation, when it could have issued a contempt notice on

the basis of the blog post alone ?

The second aspect is even more troubling : the relevance of contempt law in a
free society where criticism of the judiciary is inevitable. Judges have vast powers
and people will not remain silent about the exercise of such powers. Just as
decisions of other branches of government attract criticism, judicial decisions

would also invite the same.

The Supreme Court has held that for the judiciary to function effectively, the
dignity and authoﬁty of the courts must be respected and protected at all costs.
But the need to respect the “authority and dignity of the court” is borrowed from a
bygone era; it has no basis in a democratic system. The law of contempt should be
employed only to enable the court to function, not to prevent criticism. In many
countries, contempt jurisdiction is regarded as archaic and exercised sparingly. In
the US, courts no longer use contempt to silence comments on judges or legal
matters. The First Amendment to the US Constitution forbids. imposition of

contempt sanctions on a newspaper.

The English position is best demonstrated by the Spycatcher’s case in the late
1980s. After the House of Lords delivered the Spycatcher judgement, the Daily
Mirror published an upside-down photograph of the Law Lords captioned, “You

Old Fools”. But no contempt action was initiated against the newspaper.
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46. The writer feels that criticism of judiciary is inevitable because
a. People live in a free society |
b.  People will not remain silent
c.  Other branches of government also attract criticism
d. Authority of courts is limited
(1) Onlya (2) Onlyaandb
(3) Onlybandd (4) Onlya,bandc

47. Umbrage means
a. Shady
b.  Appreciate
c. Resent

d. Offended
(1) Onlya,bande (2) Onlya,candd
(3) Onlya (4) All of the above

48. ‘Upside-down’ means
(1) Crazy (2) Straight
(3) Settled (4) Topsy-turvy

49,  Which analogy was used for the judges in the Spycatcher’s case ?
(1) House of Lords
(2) Contempt Jurisdiction
(3) Qld Fools
(4) Law Lordship

50. The Supreme Court invited Justice Katju to defend his statements; but then, what
did the court do ?

a. Took offense and asked him to go away
b.  Insulted him by asking the security to remove him
¢. Exhibited public confrontation

d. Jailed him
(1)  Onlyaandb (2) Onlybandd
(3) Onlya, bande (4). All of the above
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“STard ST 91 SINETECHId dEwE Algde e oM

Wil 59 e ST U Al I=F TuraeeAT i ICETeAT TR R A
W AT, 3eTEo, 100ﬁmaﬁmmmm@wmmazﬂwwﬂ
Forl warE fremen g, St safaas e . w@wmﬁﬁww@sﬁ

shch g AR el %ﬁ'

At wEE BRd e, 3ERE SR 9 W@ e mﬁmmémm‘!mﬁawnu—q"[

IR e gatd fFAE T,

e mitdrearde sfua snifydsm/A fae.

A gfts FwEe iy FrER TueT 3, WRATe SE 3 JIREH I9REl e YR
M N I AT,

q.  guide Ty ot wREE H FoAEEEN RRden omeme  wRarda

HIT Ieargendn femm a1mg.

F. BT B fIER e S WIE $H AT TIR HEUR AGIA HfEEw Aeden 9
WS WA FETRE Ieaeshal fFH 3.

3. Wmﬁmmmmmmﬁmgﬁm

wi'dh#(:

(1) f& ﬁﬁwmf%?ﬁwéaﬁhgaﬂa' .
@) ﬁﬂvug?@ﬁéw mggﬂ

(3) % & 93 factean wfEdE 3T GETA T
(4) wF A F 9 fecrean wrfedish gama amga.

. Study the following observations noted by the author with respect to the “Make in

India” initiative :

India’s labour laws and labour quality simply do not meet the needs of high-quality

industrial production. For example, a factory or enterprise with more than 100

workers must get permission, rarely given, to retrench workers. This encourages

companies to think small, not thinking big. In addition, our skilled and unskilled

labour does not have the capabilities needed in modern production. Labour is poorly

educated and does not have discipline for the factory floor. Not surprisingly, worker

productivity is the lowest in India amongst emerging markets and major South-east

Asian countries.

Select the appropriate interpretation/s with respect to the above information.

a. Labour laws and labour quality are the two factors posing hurdles in the way of
“Make in India” initiative becoming a success.

b.  Worker productivity in India is lowest as they are poorly educated and lack
discipline required for the factory floor.

c.  Worker productivity in India is lowest as companies think small and employ
unskilled labour who are ready teo work for low payment.

d. There is no provision for education that assists persons to acquire capabilities
needed for modern production.

Answer Options :

(1) None of the statements is logically consistent with the given information.

(2) None but ¢ conform to the given information,

(3) Only ¢ and d are logically consistent with the given 1nf0rmat10n

(4) Only a and b comply with the given information.
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52. e foum o=

R fafer gueE seR Wl T, @ IRl gE wee w9 gg v 9
o1 IgTen s Higd.

e g e Faurio et w2k, o g s
(1) wd TR igrrmEed Aftas IEATaE g AMRd.

@) R e o ERTEe e fae HO ATEEIR AT,
(3) v T v aA AT we St T R

() Fowa ST GgFT G s e @ T

Study the following statements :

If a whimsical dictator presses the missile button, the Third World War thus ensuing
will end quickly with the possible end of civilization. It is only the hegemony of

people like him and the misuse of nuclear power which will trigger this war.

Select the statement from the following options that is the most appropriate

inference related to the above statements :

(1) All nations are equipped with nuclear weapons for retaliation.

(2) Though whimsical, the dictator may not like to end civilization.

(3) The growth of nuclear power of each nation will destroy civilization very soon.

(4) No civilization will be left after the Third World War.

FTEYT SHETAIS! SR / SPACE FOR ROUGH WORK
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53. T R whEw & :

H.

.

=+,

€.

e ek A @t gt et sk
b o e i,

e faurren smuR gdia wtamen wata gud fsed fee

(1)
(2)
(3)

(4)

T7 TG FE Tigh Fihe= 9t VI gRAST ITFere! A

A1 METG FE FiEhIEH W ATE |

AgAh “hishiee! T FETAHIR Feeiel 3T

Sft W FiEhEA Ayl A, T TR gRESY Y W6 Té.

Examine the following statements :

d.

All concrete houses in this village are painted white.
Some of the houses have spacious porches.

Concrete houses that are built after liberalization have spacious porches.

- All houses are not concrete houses.

Select the most valid conclusion based on the above statements from the following

options :

1)

- (@)

(3)

4)

There are some white concrete houses with spacious porches in this village.
There are only concrete houses in this village.
Most of the concrete houses are built after liberalization.

Houses that are not built with concrete cannot have spacious porches.

RN HHIIS ST / SPACE FOR ROUGH WORK P.T.O.
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54. 9 Roiem fF faum 9 wmarea Freed st 3 Rumren sk ashgsen 7w fsed
wig frae.

faem ;

[ YAEAES HOTETE aIagetd 9781 wasd AT,

II. aTATEHed aTea Nard SOt ST Yafa saumy wigm fess.
111 AATIEEAT TG T FOMATRT BT AT FHET Taare.

Ry

. oA AT SE YA W .

F.  Fd yEAET AR GHET 64T,

3. IWIEe AEA YO R §e gad Sdan.
ity I :

(1) a,Fafrs (2) ®Fa F

(3) 3T @ 3,9 s

Study the three statements and the conclusions given below. Select logically the
valid option of conclusions with respect to the statements.

Statements :

I. None but the affluent can afford AC vehicles.

II. Some of those who travel by AC vehicles are protected from polluted air.
III. Some of those who travel by AC vehicles don’t have health problems.
Conclusions :

a. Those who travel by non-AC {fehicles suffer from air pollution.

b. All the affluent do not travel by AC vehicles.

c.  All the affluent do not have health problems.

d.  All those who travel by AC vehicles are affluent people.

Answer Options :
1) b,candd (2) Onlyc
(3) Onlyd (4) a,bandd

FHEEYT HHTATS! TR / SPACE FOR ROUGH WORK
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55. W mrerEE @ TRTRIT A Aed. Seeien 9 v wem @ Sid dar i s
Il TRFA Tshal @ 3T 37 UekgT @i Sied B, § TeuIe

I : IR T Aean. A Rt ame et F.
7 : R rar dieen. # frdt @ et 4.
T, : Ht e gHETETR AN, W SET asa.
forwdt o vt Mt Fe 2

(D o

(2 ¥V
3) W
(4) o fpar I T T

Three criminals were arrested with some goods. During interrogation only one was
telling the truth while each one of the other two told the truth and lied alternatively.
They said

Ani : Janu broke open the doors. Manu collected the valuables.
Manu : Ani broke open the doors. I collected the valuables.
Janu : I carried the bags out of the shop. Manu broke open the doors.

Who collected 1;he valuables 7
(1) Am

(2) Janu

(3) Manu

{4) Either Ani or Janu

T FEIS] ST / SPACE FOR ROUGH WORK ' P.T.O.
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56. T2 feaeh faum 3 frewd sremm 3 faumren smvm wehesesn agre frerd =1 st faer,
ﬁm.’
f
I o1 S ST T Wi Hivadl sfyss 3o sead faga ¥ T,
II. &4 9s et el 3em et oifta o, ot weert suea=h 3ot o,

i I ;
(1) fsad 1am

(2) e e 11 @mg
(3) e I amifor 11 3t @
(4) wivrard 1 fear 11 e @mp Tt

Study the statements and the conclusions given below. Select logically the valid
option of conclusions with respect to the statements.

Statements :

The Government run company had asked its employees to declare their income and
assets, but it has been strongly resisted by the employees union and none of the

employee has declared his/her income.

Conclusions :

I.  The employees of this company do not seem to have any additional income
besides their salary.

II. The employees union wants all senior officers to declare their income first.

Answer Options :

(1) Only conclusion I follows

(2)  Only conclusion II follows

(3) Both conclusions I and II follow

(4) Neither conclusion I nor II follows
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57. e YR frpvaraadt <esft Feft, deur R, R snftn Fan ot gde faar e
o ;A T e AR e weia e
fea : B wa frper,
o : o fran wrey ARt wEAE s Roreeedt T
IR Fad Sqch! gt @Ie sivta se o hivfl v Rreeedt ?

(1) ¥ | - (2) W

3 Ted 4) wHd

Pia, Dia and Nia made the following statements when questioned about the winner
of the race :

Pia : Either Setu or Lalu won the race.

Dia : Setu won the race.

Nia : Neither Setu nor Lalu won the race.

If only one of the persons is always a liar, then who won the race ?

(1) Setu {2) Lalu

(3) Both Setu and Lalu _ (4) Neither Setu nor Lalu

58. TgHI®S, HHG M I ITATHS FEACAT ARSIAT AT UEUHT 10 TS HAT AR
SRS TS g TS IR, SR TYEH FiHaen 15 9 Jaen 5 AR G|, ® T 3
IAHS TS qHiHe geardien Jeaesl RS A TEAgas RS AT, Jiahs
(L 10 2 15 3 20 4y 25
Lucy has 10 less than twice the sum of Zeenat and Jaya’s coconuts. Jaya has twice

as many coconuts as Zeenat. If Lucy were to give 15 coconuts to Zeenat and
5 coconuts to Jaya, Zeenat and Jaya would each have half the number of coconuts

Lucy had originally.
Select the option which shows how many coconuts Zeenat had originally.
1 10 2) 15 ‘ 3) 20 4) 25

59. WE A g W& B ¥ oM fafthera anfor vt A 9y € ¥ A fafhe wgw aw W T 77
M. T T Awa%?ﬁqﬁrmawA%mC%éhﬁm%wwu@
T 73 TR, T WE A THT I BT WE C ¥ 3R 79 W2 et et 2
(1) T14,T 23 2) T13,T 17

(3 T15T 14 @4 T17,T13
Two bus tickets from city A to city B and three bus tickets from city A to city C cost a
total of T 77. But three tickets from city A to city B and two tickets from city A to
city C cost a total of T 73. What are the fares of cities B and C from city A"
respectively ?
(1) T 14and ¥ 23 (2) T 13and T 17
(3) T15and T 14 (4) T 17and T 13

FFOET FHTS! ST / SPACE FOR ROUGH WORK P.T.O.




G11

44 A

60. 102 ¥, 136 ¥+, 153 Wl & 289 AW Tl ITEATAT AR FE WEG. WISAT HEIA FHH
(1) 45 (2 41 (3) 40 (4) 38
There are four metal rods of lengths 102 cm, 136 ¢m, 153 cm and 289 cm each. They
are all cut into parts having equal maximum length. Select the option showing the
total number of parts of all the rods.
(1) 45 (2) 41 (3) - 40 4) 38

61. 2,3,5,6,7 AT 9T JAHIIEL 57 W AR AN Hiorard] 37 a1 T Ja1, 3790 67 3
fodt e TR B v ?
(1) 5 (2) 10 3) 15 4) 20
How many 3-digit numbers can be formed from the digits 2, 3, 5, 6, 7 and 9 which
are divisible by 5 and none of the digits is repeated ?
1) 5 (2) 10 3) 15 4) 20

62. A9 B gH Uxfidfie qeur= auiq o sk v faern.

AT M T 7 T i o urad InEd. @ 2 T 3/4 YAy weal. Seen 9/10
yrRie quf ST AR dedT 5/8 dedd W 2/3 Sd qul Sl.
Tt A Tt B
- T & Elcciicy
(1) = Tet T9H aMa
(2) T ATER AR
(3) TEM BN AR
(4) Tl day Fifvem e g arfidt Qi ad

Select the appropriate option that describes the relation between quantities A and B.
Lalu and John are competing in a road race. Lalu completes 3/4th of the race in
2 hours. John completes 2/3™ of the race in 5/8' of the time which Lalu takes to
complete 9/10tP of the race.

Quantity A Quantity B

Lalu’s Speed John's Speed
(1) Both the quantities are equal
(2) Quantity A is smaller
(3) Quantity B is smaller
(4) Information is insufficient for determining the relation

greeT a?rqmé’r ST / SPACE FOR ROUGH WORK
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63. ufyar anfor wiean Ao ST T A IOIR 3 : 4 IR, 5 FuG WTSAT 99TE PR 4: 5
Ade, a wiaar 2y s = sroh =& =@,
(1) wfaan 20 a% sftr wfear 15 a8
(2) wfym 1599 aafer wfar 2098
(3) wfam 20 9§ wnfor =wfar 25 99
(4) wfam 25 a8 anfo Sy 20 a8
The present ages of Savita and Kavita are in the ratio 3 : 4. After five years the ratio
- of their ages will be 4 : 5. Find the present ages of Savita and Kavita.
(1) Savita 20 years and Kavita 15 years
(2) Savita 15 years and Kavita 20 years
(3) Savita 20 years and Kavita 25 years
(4) Savita 25 years and Kavita 20 years

64, 3, 57 109R, 127 9o Hft ef T st FoER T TR AgF AW IrEda
IR g Avareh Tiog et wisl=h s w3 W
(1) 30%H (2) 60 & (3) 45%d (4) 354

Find the greatest possible length of a scale that can be used to measure exactly,
three pieces of cloth of the following lengths :
dm, 5m10cm, 12m 90 cm

(1) 30cm (2) 60cm (3 45cm (4) 35cm
8 wift
&
%
65.
THTT A I B

o A3 B @ 9@ @3 sngw. A dharh T 8 ¥ @9 o, W B <Swar=n wi g i
AT AR, A1 Y ARSI Hleh fopet ?

(1) 16 kg &t . (2) 32<tm ad
(3) 8 <vg ¥t ' (4) ¥ dRE ad
8 cm
%“&
Figure A Figure B

Figures A and B are square areas. Side of square A is 8 cm long and diagonal of
square B is 8 cm long. What is the difference between the two areas ?

(1) 16 cm? | (2) 32cm?
(3) 8cm? 4 (4) Zero cm?

FFEegT FHTATS! SR / SPACE FOR ROUGH WORK P.T.O.
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66. TH TIWE ‘A’ T TN 11 = TWFWER 31 AT ‘B’ 39T Wi 10 T IqEE AR, I
‘A’ YT B’ AT SATTIA STEETEEeT helt W ‘A’ STeAT SN 18 41 SR 4. W A Tmed
‘A anfor ‘B’ @l fordt sl st

(1) 27 (2) 26 3) 25 4) 24

In a row, ‘A’ is on the 11*M position from the left and ‘B’ is on the 10! position from
the right. If the positions of ‘A’ and ‘B’ are interchanged, then ‘A’ becomes 18 from

the left. How many persons are there in the row other than ‘A’ and ‘B’ ?

1 27 (2) 26 3 25 4) 24

67. TF1 3 =qrreAT SURaT quiard W@ A T 1200 Fo gad o fam w9 weamr T 432
=9 fedt w =gemET o et B 2

(1) 36 2 6 (3 18 ) 20

Reena took a loan of ¥ 1200 with simple interest for as many years as the rate of
interest. If she paid T 432 as interest at the end of the loan, what was the rate of

interest ?

1) 36 (2) 6 (3) 18 4 20

68. R a60% b 3R, b 40% ¢ 3R, ¢ 20% d AR, T 6d ¥ 20a =1 Tt owh a8 ?
(1) 550 (2) 500
(3) 600 4) 625

If a is 60% of b, b is 40% of ¢, and ¢ is 20% of d, then what percent of 20a, is

6d ?
(1) 550 : (2) 500
(3) 600 T (4) 625
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69. TW o wW gER A sEiliwE el 9T oMdd. R @ W gl Wi Swe w9
ITRd. Ta onfdr vamW, sgieie 9 forhe 7 9 2ngq. gfeM, a fr 9FR, d9Ee g
FAlA A A IRd. W IHare, firhe, sgiciara o gl A1 wafned Simen s
R ? ,
(1) =R\ (2) w@m (8 T (4) W

Ram and Shyam are good in hockey and volleyball. Sachin and Ram are good in
hockey and baseball. Gaurav and Shyam are good in volleyball and cricket. Sachin,
Gaurav and Sagar are good in baseball and football. Then who is good in all —
baseball, cricket, volleyball and football ?

(1) Sachin {2) Shyam {3) Gaurav (4) Sagar

70. THI Gikfas T ‘KAMAL’ is ‘1626142615’ 3/8« o ‘NQ’ Tl K0T Gha T ?
(1) 1312 (2) 1415 3) 1213 (4) 1514

If the code for KAMAL’ is 1626142615, then find the code for ‘NO’.
(1) 1312 (2) 1415 (3) 1213 (4) 1514

7. WA$BT ad AR B adiw omdw; A4 BT o AR B whiwr oy A* B O AR
B qerfi og; ovfl A@BT 3 A BT US a8, W R, T9 M & weg amed 8
Zefaord) AderEest fer 7

(1) Q$R@T*M
(2) Q@R$T#M
3 Q$R*T#M
4) Q$R@T#M

If A $ B means A is the father of B; A # B means A is the sister of B; A * B means A
is the daughter of B; and A @ B means A is the brother of B, then select the relation
chain that indicates R, T and M are siblings ?

1) Q$R@T*M
2) Q@R$T#M
3 Q$R*T#M
4 Q$R@T#M
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72. Xmmhmwﬁﬁaamamwhﬁaa

X ¢ ©
N«

¢/ x/ \ A
\@ @ ® |&, @
N

&
N S

(1)

Select the fold of transparent paper sheet X from the given options.

X v P
N«

1»/ B/
ey N (2) T/ 3 s (4)

NI <

(z@%

7@%
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73,  Teclewn valdt sipearqa o7 s P i s arpdige e (X) i e

¥ W @ W
@ W @ W

Select a figure from the options which will complete the figure (X).

W W @ \W
o o \gFF
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74. Teoem v yv Remgrean s S vt ¥ 2

4A | 6C | 2E

6P | 18R | 7T

8N | 10P | ?
it I
(1) 2T (2) 2R (3) 4T (4) 4R
In the given square, which option will replace the question mark ?

4A | 6C | 2E

6P | 13R 7T

8N | 10P | ?

Answer Options :

1y 2T (2) 2R (3) 4T (4) 4R
75. @Fﬁéﬂﬁuﬁmﬁrmmﬁéﬁﬁﬁé&é@rmﬁawww&a@
faer - : '
I. T8l IS HiEm T4, [I. 9d FE o ey,
e -
A, T 318 Jem e, B. @ 2 3R AR,
C. Ed a9 wign AT, D. 99 HEl I 3.
uaidl I ;
(1) w%aa A, B9 D ¥t a18d C(2) ¥ B, Cd D ISR T84
(3) w¥d Ad B W AT (4) @9 S ARG

Study the statements and the conclusions given below. Select logically the valid
option of conclusions with respect to the statements.

Statements :

I.  Some trees are branches. II.  All branches are hats.
Conclusions :

A. Some trees are hats. B. Some hats are trees.

C. All hats are branches. D. All branches are hats.
Answer Options :

(1) Only A, B and D are correct (2) Only B, C and D are correct
(3) Only A and B are correct (4) All are correct

T HHETHTS AT / SPACE FOR ROUGH WORK




76.

51 G11

sftenfies wiiem w9 olieor ST T 1R TEEddE TR g ITL S0 Wee AREa
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While inspecting an Industrial Training Institute you found that the building in one

housing colony had a massive board for the ITI, suggesting that the centre occupied

the entire space. When you stepped inside the institute, you found that it is

operating from a one room flat in the corner. When asked about their office and

laboratory that is mandatory for assisting students to get hands-on experience, the

person in charge claimed that the institute has a lab, and guided you to a scooter

garage on the ground floor. This person showed you all certificates of massive

infrastructure that are mandatory for an ideal ITI. You will

(1) Order the institute to take three years to put together the infrastructure they
promised at the time of getting government recognition to avoid suffering of

‘ students already admitted.

(2) Order de-recognition of the institute to avoid students getting certificates
without acquiring the needed experience based skills.

(3) Call a meeting of students, parents, teachers and man_ag‘ement to sort out
problems related to acquisition of expected skills and appoint a committee to
monitor educational programmes.

(4) Order the management to make arrangements for assisting students
immediately for getting the hands-on experience that they need to get jobs
without charging extra fees.
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You are heading the department that is responsible for taking decisions concerned
with employing Infermation and Communications Technology for various purposes.
Though most of your subordinates usé smartphones, they are against providing
online services to general public under the pretext that they should be in touch with
them to be familiar with their problems as public servants. You are familiar with
their excuses related to this but you are determined to give online public services to
reduce corruption, save energy and money, and relieve people from different kinds of
harassment. You will

(1) Make all needed arrangements related to your goals without considering the
opinions of your subordinates.

(2) Take the initiative for assisting your subordinates to get sensitized with the
difficulties faced by public at large due to the indifferent attitude of public
servants.

(3) Start giving memos when these office bearers make laypersons feel that they
are at their mercy and make them pay for this.

(4) With the help of several informal meetings with your subordinates, make
efforts to form an association to provide services as a responsible and honest
public servant. |

o] BHTETS! ST { SPACE FOR ROUGH WORK




78.

53 | G11

HUTETE I A AR Sl SHSUITAT WM 9 Yeuaeyl Yo St $mfii gaeaa .
AT T EIAT UHE TS dF TN it aRgedT eseed 918 oTR. ! aie
TN el U e HEH GO SIERHE AT O AT oTEEe Sreiedn e qentd

 FF TR, TR TEIREH AT IR FSReE A Aol fieaelt anfor arean afomed qefie
gitferdt M acfl. wee oed s|ee e A1 TRIfeRuTa R Tedel. AT e e

T oS! gedt Wiferd StftreRT=Ten A1 Rre AeTe 3% HAre ey . diefi
TUF I AT S TEHAhG SR ARUATET NI S IR, T ;1 ErAT 9qediE aue
mmmaﬁmmmwmmmmm
el HEA Ad R, T8

(1) U@ TS FECAHS dl AT SHRA FSwETe T AT YEal SHedr N
(2) FEE THR THHF BT AT =T Ja1 G R = e e are s
(3) TeH ool T S W & a1 gited ST e T Wi Rivididl T

Teae! TR WA e I T qHE g

(4) N WS TEEs, U gew, dee del I € gRfRr grarevamEdt

You are in charge of maintaining peace and order in one area where occasional
violence erupts in no time. Two factions residing in this area belonging to one
religion have a dispute over ownership of the religious structure there. One of the
groups having a large number of followers residing in the area is very aggressive and
tries to dominate the other faction having a lesser number of members. In the
morning the dominant group grabbed ownership of the place and as a result the
situation suddenly became very critical. The faction with minority lodged a
complaint against the dominating group. To avoid complications you ordered the
police officer to arrest the leader of the faction in order to maintain peace. Members
of this faction thought that the police force wants to kill their leader in a fake
encounter. In the evening a large mob with sticks and flambeaus started walking
towards the police station for making an attack to free their leader. You will
(1) Ask the police force to be ready to fire at the mob as it being very aggressive
might try to burn the station building.
(2) Assure the group that there won’t be any encounter and their leader is safe and
request few members to talk to him.

{3) Talk to the arrested leader and convince him to announce that he is safe and no
complaint is lodged against him by the police.

(4) Request the corporator, legislative member and parliament member of the area
to help you in handling the situation.
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You are heading the department that looks after control of pollution in the city.
While reading the report, ‘State of Global Air 2017 it was evident to you that ozone

related early deaths are increasing in India, You will

(1) Collect related data to know the reality of this problem in your city and then

decide a course of action, if necessary, in collaboration with the health
department.

(2) With the assistance of the transport department of the city, you will devise a
plan for supplying reliable public transport for controlling vehicular pollution.

(3) Along with developing strategies for controlling vehicular pollution, seek
modern systems of managing garbage of all kinds found in the city as well as

around the city.

(4) With the help of the transport department, control the number of vehicles on
the roads each day and organise a good network to transport garbage to a place

away from the city.
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You are occupying the topmost position in your office. Recently two of your
subordinates met with accidents and suffered minor injuries on their way to office on
different occasions. The leader of their union came to you requesting you to consult a
famous vastu expert and make necessary changes in the office premises and avoid
these kinds of e‘vil experiences in the future. You know the fact that the human-
friendly and eco-sensitive premises are designed by an architect who has taken care

of climatic and geographical conditions of the area. You will

(1)  Accept his request to consult the expert and save on expeﬂses that incur due to

such accidents in future.

(2) Call a meeting of all employees for getting familiar with their attitude towards

these things and assist them in making a sensible decision on this request.

(3) Organise a series of workshops for your employees to help them to understand

the futility of such consultations by making them familiar with the facts.

(4) Reject this request summarily by telling the person that you don’t believe in

such sciences.

ToeT BT SR { SPACE FOR ROUGH WORK P.T.O.



G11

56 A

(8) wHyfEa=d fafi e fafire wrfle += wm (6 %) F0d. TyfeRreafofe Sowfpat a1 7
FICE F W HEATE § H FOAAT I T IR, I A A T AGH IARR I
T Feed whamrer gom=n e sfiey woaeeas srfufrm-s2” ade wgdgEn s
Wﬁaammm@mmaﬁ/ﬁmwﬁmﬁﬁwmﬁﬂa‘

H FEd.

(9) wwmmﬁ%aﬁ?ﬁéammﬁmmmqﬁm
UIA TEE WEET AR WTE THETEHTETR WvaTgE! Sieae ey IevgfeEr Wl
AT 7 fawta wa W sava o

. 6. 201.

T.56. 201.

e e

Tt 9T T oIt Sl g e v ?

(1) @t gaFg T (2 varag feammr
(3) T THAIET UG (4) TUTSHWT MG

T SR C3) T UAEEd T3 3R R, WS W ve s s @) e,
IRAY WICETATol 599 %. 201 THA IFA& (3) ¢ ade Pivwt saifea e
Tr@ vt a3,

© © @& ©

I YA TEqH TSR Jeie SR Rl OGRS @1 gRETell e Riee
ITWEHAS 1 & TRAIHENRE G819 94 PN Sdihd %% gradar, Frehiar
T TTedT VTSR SieTds araE, f=ae a vmds o anas 3.

FTHT STHTHATST AT/ SPACE FOR ROUGH WORK




